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CLOSED CENTER HYDRAULIC CYLINDER(PROXIMITY SWITCH Type)
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-+ Detection of Operating Location
* Miniaturization & Lightness - High Performance and High Quality
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¥ Maximum turning speed is based on actual measurment

Specifications /A& /TR AL &

SpecA Cylinder Dia Piston stroke Piston surface area Max. Draw bar pul
Order NO. ARG A IAEAEZ] | AE THHEE o AEH &3 KN(kgf)
Qs
ModeRiA " o Push 1 PUI OIS Push 215 PUIOIZ
YASP-100 2ASP10 105 20 865 795 31.8(3244) 29.3(2989)
YASP-125 2ASP12 130 25 132.5 123.0 488(4978) 453(4621)
YASP-150 2ASP15 150 30 176.0 160.0 64.8(6610) 60.0(6120)
YASP-200 2ASP20 205 35 330.0 306.0 121.6(12404) 112.8(11505)
YASP-250 2ASP25 250 60 490.2 457.7 179(18400) 169(17200)
\\\ o
\\SpeaA}J Max.operatingpressure | Maxper missible speed Total leakage Weight GD? Matching chuck
AN HIABRYUY HIABE He sy =Yy Moment of inertia Cﬁf‘éﬁ =
T \ kaf/er r.om(min™) £/min kg N (kgf.m) sen
ode&Al
YASP-100 408 6000 10 58 0.49(0.05) CAS-06
YASP-125 408 6000 10 79 0.88(0.09) CAS-08,CAS-10
YASP-150 408 5500 10 108 1.47(0.15) CAS-10,CAS-12
YASP-200 408 5500 10 200 3.62(0.37) CAS-150] 4
YASP-250 408 2000 10 - - CAS-40, 50, 63




Outward Drawing/4} EUER/ARIEY @ & =
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DRAIN PORT

o emes
(o] D E F G L0 L1 L2
Model34]
YASP-100 135 100 80 30 21 236 155 134
YASP-125 160 130 110 85 25 246 165 144
YASP-150 185 130 110 45 305 253 172 151
YASP-200 245 145 120 55 37 276.5 195.5 174.5
YASP-250 314 282 160 65 46 252.5 215.5 166
lte m&ts
L3 L4 L5 L6 L7 max L7 min T1 T2
Model3 A
YASP-100 815 65 123.5 35 45 25 6-M10X19 M20XP2.5
YASP-125 915 65 (83815 40 50 25 6-M12X22 M24XP3.0
YASP-150 985 65 140.5 45 55 25 6-M12X20 M30XP3.5
YASP-200 122 65 164 60 69 34 6-M16X29 M36XP4.0
YASP-250 166.5 65 208 67 85 25 6-M12X30 M42XP3.0
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X Specifications are subject o change without rotice.
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